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Algebra 2/Trig Homework A.2.1: Exponent Rules Mrs. Dunphy
1-33 EOO 3-19 ODD, 25, 27. 29
o Sy 3 —12p%q 5 =5l
3. (- © 4plg? T=25uh?
5. (3 7. () i
7. (=2t (v (— 1) 3 9. 2 T
9, (4a’h*)? 1 73x3 3y o
1. (=3pg*r?)? YR L FikA
I3 (o) )t 15. (_3_;) o (G
15. (#°0)3Ge) bepe Ao
17. 33(3° — 27 + 3) 19. _('7‘2;_22.)3
19. rs*(r® = 2ry — §%) 2y
21. 2272 R rzn*z : il
230 0 S W
B R !
57 W4
27. 11" + 0 + gt g
29, piptattl ottt
31, 27— g g9, B
3. @lrpn ’

@w‘)m ( tw)n —n



Algebra 2/Trig Homework A.2.2: Negative Exponents Mrs. Dunphy

Assignment: 3-11 ODD and 21-49 EOO
Write your work on separate paper!!

Write in simplest form without zero or negative exponents.

L GeGt 2. (3:5)! b 4 (=057
8

-2 -1 -2
5. (2—2 . 3—1 & 50)-1 6. 5—1(3—2 - 2—3)0 7 2(__%) é. i)
5 4 3
Re-write each expression without using fractions.
2 2
! IR ) e [0
4 10,000 AT © yzt
Simplify each expression without using zero or negative exponents.
==0 —2.—3
b P 4 St
21. 2 2. =25 23.
6y ! - (”—2)—1 ( 2 )_2
7] o e IS 1 25, 200\ ——
24. —‘__r"zy—l 2 Y h7k 3
3 Gz~ 2 e
—2.2y=2 28. - 29833
27. (2352 8 o (Bxy™ ")
_ CE (2pq ‘)-1
gt : 32. 5
30. 5177 SIS e i
; g0 9 =L sl
(e ()2 35, (22)
ol (3) ( y LT T
(@) 3 ( i )(_J__) 38 :i(i)“z
36' a_ﬂ? s }Imt _x_l ; .Yz rs
U 0(1‘—1)2 21 (_f’_n_-)_l(_ﬂ_.)-z
39. (T‘T) = (uv?) 40. 5 T
B el P E 5, (_li)er 22
gl d vyt Loy 4 - (—usa)
Find a counterexample that proves each statement false.
Fat] = Sk L o X
430 v yuand i Tyl 44. (xy)~! and =
S | =) )
45, xy~ ' and = 46y (1= x)i= and 'l - x
Find an expression that will male the statement true.
Sample 3 x7 +o02 - 3x!l=x32)
Salutien 2t Bl =il = 3
e T =y e g S s ) 48, 2x + ' =3 =y (1)

49, 4 —5x ' +x =22 ) ) G = e



Algebra 2/Trig Homework A.2.4: Radicals & Their Properties

Mrs. Dunphy
1-11 ODD: Simplify. If the expression does not represent a real number, write ''not real".
lc V 36 2. '\3,‘ -—8 3- __41-_‘_
4. *\/'2—15— 5. —V16 6. (V5)
7. (\V2)? 8. (-V11) 9. (—V13)?
10. V(=7)° 11. V(=6)° 12. V0
19-23 ODD: Simplify each statement. Be careful to observe the rules for using absolute value.
19. Vw? 20. \/y—“ 21. (\‘}’;)4
2. Vo 23. (Vy* 24, (Vo
1-13 ODD: Simplify. If the expression does not represent a real number, write ''not real''.
4
1. a. V16 b. —V16 (2 VA1) d. V3 16
2. a. V64 b. V—64 c. V64 d. V64
3. a. V&I b. —V8l1 e V=81 d. \/481 .
4. a. V144 b. V—144 c. —Vid4 d. \: —144
5. a. V0.0l b. V=0.01 c. V0.001 d. V-0.001
6. a. V0.04 b. —Vv0.04 c. V0.0004 d. vV -0.0004
: S
T a Vi b. V7 c. V(=7? d. v} 77
8. a. V5? b. V-5 ¢, V(=5 d. V-5
1 1 Syl i 1
9. a. \Jg7 b. i c. o4 Ve
1 81 el L 481
10. a. \/E b. \,_13 T3 d T3
11. a. 10? b 10* c 10° d 102
12. a, Vi6 b. V107° ¢. V107° d : 10~
13. a. Va* b. Va' c. Vab d. Vd°
14. a. V-4 b. V(—a) c. Va d. Vd®
33-37 ODD: Find the value(s) of x that ensure the expression represents a real number.
J3. A v Rl it =10 Ch Ve Al ST
Ao VA= b. V4 — x* ol A2 d

V4 + x?
35. Vx> — Ox 36. V16x — X2 37. VVx—x 38. Vx— Vx



Algebra 2/Trig

L5,

16. V35

19.

39,
41.

43.

45.

Homework A.2.5A & B: Simplifying Radicals Mrs. Dunphy

HW A.2.5A: 1-7 odd, 13-19 odd, 23, 25, 27, 31, 39, 41
HW A.2.5B: 21,22, 29, 30, 32, 43-46 all

2ENALDS 3. V162
5. V196 6. V324
50 f4
8 4—9 9. V3
i, 12
V72 V3
14, Y% 15. V30 - Va2
N3
I li=s
17. V6 \% 18. V15 - /2
3 s
20. V135 21. =
9\2 4V3
23, —= 24, —
: V18 V12
26. (3V6)? 27. V45 - N2
/60 o VAEE
vy 30, L
27 /26 50)
b D c. V32 a2
i 'E} “E
b '\/—3* C. \f—g d V3
40. V12x°
3
42, 16¢*
."?!Tf
44. s
3; 8¢
i \ij



Algebra 2/Trig Homework A.2.6: Sums of Radicals Mrs. Dunphy

HW A.2.6: 1-41 EOO

Simplify each expression.

1. V50 + V18 2. V45 — V20 3. 3V12 — V48
4. V27 +2V75 5. 5V2 - 2V5 6. 7V3 - 3V7
7. V6 + V36 + V216 8. V5 + V25 + V125 9. V50 + V63 — V32
10. V18 + V24 — V54 11. V54 + V40 + V16 12. V24 — V56 + V81

13-\/_ \f 14.\]—7—25—\/%
15-\/;+\/; 16.@+\/-§-

17. V4 + \‘g 18. V16 — {‘g
19. V2(V3 + V10) 20. V3(V12 — V24)
21. V15(V3 + 2V5) 22. VI(3V14 — V21)
23. 2V3(V48 — 5V12) 24. 3V5(V5 + 2V75)
V6 — V24 V18 — V6
25. P 26. G
27 4V300 — V108 55, V40 - 2V/5
: V12 ; V10
B o [3 ( \/? 2
29. V?(\E“W) 30. Vg z+”\7§)
31. V5(V200 - V16) 32. V40(V25 + 2V5)
3 V18 + 3V/54 2 /320 + V1250
‘ 3 ' 25
Simplify each expression. Make sure to use the absolute value as necessary.
35. V8x® — xV18x | 36. y>V45y + 2yV5y>
Wil N pile s ! 38. V2a’b* + V8a’b*
V54 2a V2x 3
39, V10a — — + /= 40. Vbox + — — /=
W 5 Ve T

41. Vow(V3w + V2w?) 42. V IOI(X/? — V51)



Algebra 2/Trig Homework A.2.7: Binomials With Radicals Mrs. Dunphy
HW A.2.7: 1-29 EOO, 31, 37,41, 43

Simplify each expression.

1. G+ VB -V 2. 5+ V2)5 - V2) 3. (V7 4+ 1)
4. (V5 + 2) 5. (1+V23+ V2 6. (6 — V3)4 + V3)
1 1
7. ; g e 2
PRV, ey, co
10. 3V11 — V10) MG AN R 3) 12. 5 —V2)3 - 2V2)
3 10

13. e 14. S e
V5 + V2 2N BTN

S T a e s a) 16, (VIB = VA B a

1706 VaiE = ) 18. (3 + 2V6)(4 — 5V6)

V15 V6

19 -9 2, o V6
/3 V5 Wi

21. V5 + V7)? 22. 3V2 + V6)?

23. (V3 LGNV E = \V/5) 24, (3VT — 2V35)(3VT + 2V/5)

25. (V6 — V15)2 26. 2V5 = V10)2

ey /7 ‘ =
27_v’5+\f3_vs~\a3 28, 2N V)
: 2 3 3

29. (5V6 + 3V2)2V6 — 4V3) 30. (3V5 + 2V15)(@V3 — 3V15)

3y, Y3+ 1. ’**v?—\f
Si—» V7 + V3

37. a. What is the conjugate of 2NV5 — 3N
b. What is the reciprocal of the conjugate of 2V5 - 3V2?
¢. What is the conjugate of the reciprocal of 2V5 — 3V2?

N vs+|
b

38. Show that the reciprocal of :

is also the conjugate of

Use the Pythagorean theorem to find x.

39. , k 40. 4+ 312
. : 4 =
[ _ v ‘
9 ; 6+ 2N2

Simplify. Assume that each radical represents a real number.

1

4. Vo + 14+ VyVa+ 1 -V 42. (b + Vb)? — (b — Vb2
e DR VA

Vw41l V-1 v‘;



Algebra 2/Trig Homework A.2.8: Rational Exponents Mrs. Dunphy
HW A.2.8: 1-27 ODD, 29-41 EOO (Answers on the back)

Simplify each expression. If not possible, state why.

1, B 2, 2305 3. 49n 2 4. 3275
5. 43’;2 6_. 272f3 = 163/4 8. 25‘:"‘;2
9, (—125)~"3 10. (—32)~ 5 11, 4795 12. (g)‘“"
13, -8*? 14. —9*2 el (@79 16. (773
gi7s (16_5)]’@” 18. (274)—‘f12 19. (9112 T l()"@)l 20. (82’/3 i 8”3)3

Re-write each expression in exponential form.

21. Vi3 22. Vp'q 23. Va b 24. Vb *
_ : 3, -2
25. (Va=2b) 26. V35 * 27, Sl a g L
f: Vpg
Re-write each expression in simplified radical form. Hint: Convert to exponential form first.
29. V4 -4 30. V8- V3 31. \(4 ), AT
" V2 V'9?
{ 5 Maric :
33, V32 + V4 34. V8 + V42 35, V27- V9 36. V128 - V256
Convert into simplified exponential form.
37. Vx- Vi Vi 38. Vai - Va 39.\4/'7 \f
40. ((!}‘."'2)—2/3)3;4 41 lfz(a.{f" LA zalf'z) 42. { — 2y q/"} e l!"‘?._



Algebra 2/Trig

Homework A.2.9: Real Number Exponents Mrs. Dunphy
HW A.2.9: 1-17 ODD (Answers below)
Simplify each expression involving real number exponents.
/5 ) 3 \V2+2
1. a. 3V2.3V2 b. (3V2) c. BYHV2 d. ;\_m
V3, 9V2 V32 V32 Y3+
2.k, e bt (7 Cl ) d. 19
2L (il A G 5. V&~ 6. V4o7
V3i-2 BN 5 =
7 :g\-aﬂ 8. 'Q:_a%\ 9. [(V2)™]° 10. (V3)V2(V3)~ V2
Va2 V3,V2 (2 A= 255
L (232 120 13 14. =
+V/3)7 ! VA= R [ot=w 2738
i, (WD) e ol 17. {2 18. 2
(e et (V2 - )7 9
ANSWERS
V2+2
I 8M2 3N 2igN 2 i, (3MAR2 g Y2 (3320 d. -372-_—231
SN, A o V3+2 =
2. a 7\/-'; " 7\/5 7\ 3+ N2 b (7\/5)2 49\ 3 c (7\/3)\/5 i 6 d 0 i 7\ 3
- - L] L3 L] 49

3. (10972 1007

7 ]0\/3-—2 1
* 10V3+2 10,000

V2, — /32 1
1122 ) 5

a1+ V3!

2 (i + \/3)11"!‘[_2“-

4. (=57 5. V6Z™ 6" 6. V457 167
V32, VR -
6—(;3-\—,‘2—1 9. [(V2)™° 1 10. (V3)VEAV3)~ V2
2.4
128 @220 13. 8122735 ; s S
— 1)t == V3+3
gy, AU 17, L 18. /2
NI (e T G 3
3 -2V2 Dpe!



ANSWERS to HW A.2.1
iz ies
3. (—14)3 fle
5. 3%y ax®y®
i
9
1

5r2 - p451°

(_1,3)4 t 12

4p2q)(p*qd) apq’
{s)i=arstl@rs) =6 s

® o B

o (=20 (A=) 2y ®

. (4a’h*)? 16a°b" 10. (2c*d%)*8c°%°
M. 3pgir) “2ptqlcet bl (i et
13. (=) (—2z)* " 14, (—c)’ (=% —c°
15. (s%0)%(s%)? s?° 16. (2% (3x3y)2 7245y
17. 3y(y* — 2y* + 3)3y* - 6y + 9y 18. X’(x — 2 + 3xH)x? — 2x* + 3x°
19. 152(p2 = 2rs — $2) % rfs® st 20. p*¢(p* — 4q)p'q” — 4p°q"
20 g el Pk e
23l b i o2 24, yPTL. g V’"'zy B

25, ’Jr~2(rh+i)3r:3.“r 26. § {ﬁ._.(.-dl)'i 5

e e T S R It el e
29‘ P"(Pm n—+1 L pm n) m+ | Qm 3{,- &""(A'm 7T R _s.m ZH)S AP Sm
31. H(.,H‘"H? = Al 711) L 1 32. X!Hrk(x'.’h*k 55 _\,h R .\‘k)
33, (lm)ﬂ(tn "n— m[-n 34, ('yft—k)h(yh-i-k)k ).’3” ' X:-(_,_’j.,_i.n’,
yh;ﬂix"

A ”F’ q 3p [ 156 3uv Ampmt
e Il e Tt B 23 e O

(a=b-)

- 3 a4
A3 om O e
Elel gl

e R 7. (pq)" e

1

3 3y oy B3 a2 Pq
1. -2 5 1B 2L 5
Ve X &) e

E"+ II"_ |

7 t"
[

.'31-*)3 51 7. (4r3s*)? o2 29.



ANSWERS to HW A.2.2

1,857 2 b B Ly ey
50023 syl e e T 2(—21)_' —0 g

T 4 S e e Gio ooy el

. X 10 . —— 32 7 10 . —— bOX « ==X} z
9 10,000 / 1% Himeo B e ooak i

e Rl caEt
21. - . - 23.
y~ xS v P e S
6.1—‘:_ : p / u“ 2N =1 o ) = h‘-’

, ———  3x° i ( ) Uy ; (+) L
2 —2x" 3y ! 25_ v «h (e 4k°
27, (2x2)~2 L e 29, 3¢Gry~)"2 Y,

] ( 1 } ) —45/' L4 (ln',_“)u .-%5lr 4 L —t ( a")’ ) 3

~ L S (2.\‘—3}_2 e qu“el =1 ?r‘;:}'
30. 515~ "1"2)"2 5s2S b Tl 2. (_______)
S M T 52 s p

s (7L =@ 55, (£2) " ¢

el D e oo )5
36. =55 4 37. y_,) (x,,,) 38, S(L) "
. LU il_ 2 ) i (E(i)*l a =2 1

22 (v_‘) ( v ) vy RS 4 b (b_z) ah

3 2 —-3 Hyo i \? o el
41 dody= 0o (pmtyf)as 2 42, (——) + (—u V)"t 2y

x? - dx 4D 2+~ x — 3%

a7 % A 2 = () 48. 2x 2+ x ' —3=x"3(2)




A.2.4 Homework ANSWERS

1-11 ODD: Simplify. If the expression does not represent a real number, write ""not real".

1. V3656 2. V-8 2 3. \/— ot rea
4. -y ! 5. —V16 = 6. (V5)s

7. (V2)22 8. (—V11)211 9. (—V13)3 13
10. V(—=7)*7 11. V(=6 6 12.

19-23 ODD: Simplify each statement. Be careful to observe the rules for using absolute value.

19. V2 = w| 20. Vy? =2 21. (Vy)* =yl

2. V' = o 23. (Viyh* =y 24, (V2)° = 2
1-13 ODD: Simplify. If the expression does not represent a real number, write '"not real".
1. a. V164 b. —V16 ~4 16 Notreal  d. V162
2. a. V648 b. \V/—64 Notreal ¢, \/ 64 4 d. V—64
3. a. V819 b. —V81 9 c. V=81 Nol real d. V813
4. a. V144 12 b. V—144 Notreal ¢, —V144 —12 d. V=144 Not real
5. a. V0.010- b. V—0.01 Notreal . \/30.001 0.1 d. V=0.001 01
6. a. V0.04 0.2 b. —V0.04 -02 \/0 0004 0.02 d. V/=0.0004 Not rei
7. a. V17 b. V737 V(=T 7 d. V7P 7
8. a. V525 b. \V/ —52 Not real C. \/(_-5)‘ 5 d. \‘/:gi &
L [ SR 7 [t !
9. a. -6"4_ £ b- _\/,-6—1 g C. 6‘4 el \1/62 4
i /81 9 41 1 818
10. a. y/5¢ 4 b. V154 ¢. Vg2 d. \7g >
11. a 107 1 b. V10*10° C 10° 10 d. V102 10"
[0 5, AL b, Va0 ¢ 110—‘) ! d. \/6 10~
13. a. Va2l b. Va*a c. Vaba d. Vd®a
14. a. V—gZlNotreal b, V(-apa c. Va'ial d. Va®ia’l

33-37 ODD: Find the value(s) of x that ensure the expression represents a real number

3. a. Vx4 1 x= -1 b. Vx— 15 19 c. V.l'— All reals d \/A -
M. a. V4 —xx =4 b. V4 —x 5 =x=p 34“‘.’62&13 reals d. V4 + x*
All reals
35, Vx3 — 0y 36. V16x — 12 37. VVx—x 38. Vx— Vx
=il U= Xt g Bt » =
o = 3



Algebra 2/Trig Homework A.2.5A & B: ANSWERS

Mrs. Dunphy

HW A.2.5A: 1-7 odd, 13-19 odd, 23, 25, 27, 31, 39, 41

HW A.2.5B: 21,22, 29, 30, 32, 43-46 all

1. \/55 A3

4. V363 11173

10. 5 2

13. Y210 5,5

16. V35:V21 7\ 15

3 3=
19. V250 5v2

sl s
292, T 3

28. /20 - V14 2V 35

3.8, V32 4
3 V6
B2 A \/-;— 1

39. V18 3\ 2

3 = sl o
41, V315a® 5av3a2
. 2 XNy
YRy it o

\ TT /2

327 ’

11.
i,
V3

17.
20.

23.

26,
I e

16

]
$a

%)

o

9l 7e N
-~

-
o]
(fopll

r..x

12.

15,

21.

24.

27
30.

40. V1252 2x°\ 3»
42, V16 2¢V 2¢




Algebra 2/Trig Homework A.2.6: Sums of Radicals Mrs. Dunphy
HW A.2.6: 1-41 EQO
Simplify each expression.
6. Not possible 7.6+ 7V6 8.5+ 3\5 o
9. V2 + 3V7 10.3v2- V6 11.5V2+ 2\5
12, 5V/3 - 2V7
1. V50 + V18s8v2 2. V45 — V20 V5 3. 3V12 — V482Vv3
4. V27 + 2V7513V3 5. 5V/2 — 2V/5 Not possible 6. 7V3-3V1
7. V6 + V36 + V216 8. V5 + V25 + V125 9. V50 + V63 —

10. V18 + V24 - V54

. T T2
15. \/;4*\/;%

17\/‘+/_£

19. V2(V8 + V10) 4 + 2V5
21. VI5(V3 + 2V5) 3V5 + 10V3
23. 2V3(V48 — 5V12) 36

V6 —V24

S N
25 5

. 4\/5— \/_

29. \E\/« )3—\3

31. \/_('\/20 — V/16) 10 - 210

33. +‘,3 \?G NET:

%

11. V54 + V40 + V16 12. V24 — V56 + V

14. \[2—-:5-— \/3-2\-"6
16. \f \F 4l

18. \[“ 13\2

20. V3(V12 - \/—) B~ 6VZ
22. VIGV14 — V21) 21v2 - 73
24, 3V5(V5 + 2V75) 15 + 30\15

VIE=VE .= s
26. 0 V6 - V2
28, \/— — 2\/" VB

32. VA0(V25 + 2V/5) 10 1 4V25

V/320 + V1250 , _ 5Vz

34. B S

Simplify each expression. Make sure to use the absolute value as necessary.

35. V8x® — xV18x —xV2x
37. Vp3r + Vpr3 (p + nVpr
2a 7vi0a

‘V5a
39, V10a — A =
a1. \/?wmw T s s

42, V101(V28 —

36. y>V45y + 2y V/5y® 5y2Vby
38. V2a?h* + V 8ab? 3lah” V2

N rm e T
40-. 6.X+-{-/-_§- 2 ‘*6'

V/51) 28\V5 - 51v2



Algebra 2/Trig Homework A.2.7: Binomials With Radicals Mrs. Dunphy
HW A.2.7: 1-29 EOOQO, 31, 37,41, 43

Simplify each expression.

1. G+ VN3G -VTNe2 3.5+ VD)5 V) 2z 3. (VT +1)28+2V7
4, (V5 +2)9+4\5 5

LA+ VDHEG+VIE-02 6. (6— V3G + V3

21 +2Vv3

| 4 4 w3 1 G 2
o m— - 8. = 9 \/’?4\6 i
4=V 6+ V3 - ( b avia
10. V11 = V10) 1. 3 +4VH2 - V3) 12. (5 - V2)3 - 2V?2)
109 — 6\ 110 s el e

13, —2—1v5-\2 e R

V5 + V2 2V3 -7
15. (V11 = V(1L + V7) 4 16. (V13 - V3)(V13 + V3) 10
17. (5 + V3)8 —2V3) 32 213 18. (3 +2V6)(4 — 5V6) 48 -7vE
19. -- SRS 20, —————3v2-2\v3

/3 E/5EE V2+ V3
21. (2\/5 + V7?2 27 + 4\35 22, (3\/‘_3 + \/E)2 24 + 12Vv3
23. 2V3 + V5)(2V3 - V35) 7 24, 3V7 - 2V3(BVT + 2V5) 48
25. (V6 — V15)% 21 - 6\ 10 26. 2V5 — V10230 20v2
27_wf§+\f§,\/:—\/§l 35 2VAONT

2 2 & 3 3
29, (5V6 + 3V2)2V6 — 4V3) . _30. 3V5 + 2V 15)(4V3 - 3V15)
60 — 60V2 + 12V3 ~ 12VE _ 12\15  45V3 + 24V5 - 90

31. M5kl —g s 32, AV 17— avat g

V5 -3 V7 + V3 1
37. a. What is the conjugate of 2V5 — 32?21 5 B2 seE

b. What is the reciprocal of the conjugate of 2V5 — 3V2? =

¢. What is the conjugate of the reciprocal of 2V5 — 3V/27 2\ 6 =g

3 i
38. Show that the reciprocal of ﬁa_ﬂ is also the conjugate of A 5_ il
Use the Pythagorean theorem to find x.
- . [ b :
i) ,_ G i e

Simplify. Assume that each radical represents a real number.
41 Vi + 1+ VYV + 1 = Va) | 42. (b + Vb)Y — (b — Vb)® 100D

Vi Vw 2y 3 y A
43. + 4. VIi—y + Lo
Viv+ 1l Vw-1 %1 : VIi=g 1 1




A28 Aisuoent

1. 812 g
5, 43/2 8

9, (—125)'"3 -1
13. __82!'3 {5

Uzu 1
17(l6e 5

ot m ,\'3’"9},5'?
25, (Va ) a

9. V4-V42v2
33. V32 = V4 o

37. V- Var Y x
4{)‘ ((blf%)—z.h)-}fﬁl- b

1

2o
6. 2773 g

10. (=32) 5 -

14. —9"2

18. (2?“] -

72, m ;Jd": E

LI
q S

a7
/12

1
3

30. V8- V384

34, V8 +

‘4

38. Va?- "& ata

41.

V4

e

i

= Big 3] = = e e
5p72 26, V8B 207

B-

32

(u

3. 4972 1
7. 1674 g

-0.5 1
11. 4 =

15. (5/%)~3 1
1/> SU?-')
190 (9 -+ 16 -}“ 49

16. (?“’3)
20, (83 — §'

23. Va P 24, \?'/xTy:‘ x2y~4
6 o2 | _
27‘ {)‘ G . 28- i 0 i 2
" 8/ T—% '
8 %5 2 p'q
> 5/—1
31 Yi e 2% \'2? 3
35. V27-V9 3 36‘\’4/@‘5/25—6
4’8
MIE ‘
39, Vi ViiVa
= 24" & - 21 RUGEED2)

XEX



